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Part A (10 x 1% = 15)

Answer all questions.

1.  Define ripple factor.
Snpene sryenfl cuenFwimy.
2. What is meant by rectifier?
Smsd erang) <idloig wing?
3.  Define amplifier.
QumES auenTwim.
4, List the applications of RC coupled amplifier.
RC @aenriCLimsluden Liweruimhaemert UL iguied (.
5. Define idle op-amp.

Idle op-amp euenyuwimy.

6.  What is inverting amplifier?

b QUmES eremmmed creven?



10.

11.

12.

13.

WK11
Define number system.

GTEUT <EMLOLIL| QUGN WM.
Simplify : A+ AB+A.
FMHEGHS: A+ AB+A.

Define PWM.
PWM cuenrwipy.

What is delector?

Detector eremLigy) wimg;?
Part B (bx3=15)
Answer all questions, choosing either (a) or (b).

(a) Explain the operation of PN junction diode.

PN &5l en_Cuimgem Gewcoum’en aflers@s.

Or
(b) Write the limitations of zener voltage regulat.
st Lleran(LpSs ErmaSlufler euLbLEMmeT 6T(LpSis.
(a) Differentiate between NPN and PNP transistor.
NPN wpmid PNP g prendlev i - CoumiLi(hdsis.

Or
(b) Explain the operation of crystal oscillator.
L& Siamaullwpdluder QFwene ellers@s.
(a) Write notes on UPS.
UPS @iy erps)s.
Or
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14.

15.

16.

17.

(b)

(a)

(b)

(a)

(b)

Explain the monostable miltivibrator with neat
sketch.

Monostable Multivibrator & Ggefleurenr L gL en
Al EACES

Discuss the master-slave flip-flop.
Tl T-60Gae ool Gefllissliemmil bl efleurdlés.
Or
Draw and explain the Demorgan's theorem.
i Lomrgeren CHHMD UL LD euenphgl 696TéEs.
Describe the FM modulation.
FM uerrGumppid umil eSleurl.
Or
Discuss in detail ASK.
ASK upl eflfleuns efleurd).
Part C (83 x10=30)

Answer any three questions.

With neat sketch, explain the operation of full wave
rectifier.

Qgefleurar LLSgGIL e (P DAdadmsHufer CFweum enL
cAlemd @s.

Explain in detail the Hartly oscillator.

Hartly oiemoulupdenw eflifleurs alleu.
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18.

19.

20.

Describe the operation of Schmitt trigger using op-amp.

op-amp & uwe(®sSH Schmitt gram@hsed CFwdumen
afleur.

Compute the following:

@ (24B1)g=( )

®  (1127)=(),

(© (1110111110),=( ),
@ (B73)o=( e
Geéneimeiaaden samid (e
(<) (2AB1);=()

(<) (127)=( ),

(@) (110111110),=( ),
(m)  (373)y=( )

Explain the frequency modulation and demodulation in
detail.
9FlTCeuanr LearGuDDL wHmbd uamrdnssn @olsg ellifleirs
afleur.
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